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title page of the answer-book.

Candidates must write the Code on the

FHUAT S H o o6 30 I § Gfgd I8 12 8 q1 2 I8 HEREE 6 7 |

%‘\ﬁgﬁ H gife g1 hl AR U MU Fie TR H BH IW-GEIHR b @-I8 |
|

FRT S B A o6 30 T H 22 79 F |

FUAT T T I TTE@AT I[E T 6 Uget, T 1 shHTHR a9 (o1 |

3 TYE-UA Wl Ugd o fIT 15 fiFe 1 Ty fo e R | weA-us o T qatg

H 10.15 S foRT SIT@T | 10.15 1 & 10.30 1 T ST hacl Y- I Tl

3T 39 ATy & G o IT-YfEdehl T g I & fore |

Please check that this question paper contains 12 printed pages and
2 pages of maps.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

eiRa a7 : 3 o2

Time allowed : 3 hours

e (Hgr=ie)
GEOGRAPHY (Theory)

37TEIHaH 37 - 70

641412 1 PTO.
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TQTET=T 13397 :

() FIIH-TTH FA22 T |

(i) @ yeT AT &/

(iii) 97 &1 18 7 3id TG-IF0 397 8 | I&P Jo7 1 3% F1 & | JAP Jo7 BT
I 40 Iee] & 3718 787 &1 FET |

(iv) I97 G&I7 8 T 13 TY-F0T J97 8 | JI% Jo7 3 37 #1 & | JIP o7 &7
I 80-100 Y=gl & S7fes 78 &A1 T80T |

(v) I G 14 T 20 FH-3ITT 97 & | IAF J97 5 37 FH & | I 9T FT
I 150 s3] & 3718 757 &1 TR0 |

(vi) ¥¥T &1 21 4T T H1 GEEAT 79T 37% 19 lorgd & gafad 8 e
g&IT 22 s el # EfT # 39gE el @ v @ getya 8 | 3%
Y975 3% FT & |

(vii) 3T9H! 13T T fava aur URa & G-l F FTH-YdH & G T
#H |

(viii) IGI-THTE] & 3G & 1070 et a7 2Fqeigd & I791T H1 37al7 & 7l
g/

General Instructions :
(i) There are 22 questions in all.
(it)  All questions are compulsory.

(iti) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv)  Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(v) Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.



Qusg <h
SECTION A

1. aErdes At (A% Hiek) 6 g faemar 6t smen Hifv | 1
HAYAT
“Srenfires ga’ 3eg i AT HINT | 1
Explain the main characteristic of professional workers (White Collar).
OR
Explain the term “Technopole’.
2. 39 Holl o 3g@ IV, T8 ST=Tid YT o R g Yo 37T 2 | 1
AYAT
IRd o fohm U= | SAyanferRn Y v T 3ifde g 2 1
Mention the category to which the migration due to earthquake belongs.
OR
In which State of India is the number of in-migrants the largest ?

3. ‘agrardy fammem @ favemy Hifvw | 1
Analyse the ‘behavioural’ school of thought.

4. Ta GEE o Scaresk fGER # 3T T Hifu | 1
Distinguish between ‘protective irrigation’ and ‘productive irrigation’

5.  ‘mfior wgeni’ Y ITAFAIAT T GeATeRA iU | 1
Evaluate the utility of ‘Rural Roads’.

6. WA H Ugl 9%t arcd foret wes & w1 A feflay | 1

AT
ad o fopHl T Ty o1 W fofgu, SieT giifare sfeaat arE St @ | 1
Name any one area of hamleted settlement in India.

OR
Name any one State of India, where dispersed settlements are found.

7.  OgHhRI N e i gRdmt fafaw | 1

Define the term ‘co-operative farming’.

Qs @
SECTION B
8. “ufSmn % T & § fom-srura gEY yuH 7, et unfiv &= ° Ig Sff
9 g |7 389 U hT oA i | 3
“The sex-ratio in Asian urban areas remains male dominated, while in
rural areas it remains female dominated.” Evaluate the statement.

641412 3 PTO.
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9. = feu U smw@ W srewEA Hifu v I = fer U vl % S
o 1+1+1=3

&’ @  wen
ZFs A1d Yy B3
\\-ﬂ-:l'aa ATg

9.1)  3F ¥ o1 M fofigu e =g <gr 9 e g9 feora 2@
(9.2) 39 HIF & foTU e 3R g 3%k & @idi o a1 faflgu |
(9.3) 39 EIF i for Tagra W enfua femem e o, Tose hifsie |



Study the diagram given below and answer the questions that follow :

Steel Plant To Bokaro
R A

¢
g
16 Km. ~ .5
y & f
e g
- g % Steel Plant
o T :
C; .§ @ Limestone
Hirakud Dam M ¢ Iron-ore
\ \ st~ R ailway Line

9.1) Name the State in which this iron and steel plant is located.
(9.2) Name the sources of coal and iron-ore for this plant.
(9.3) Explain the principle on which this plant was set up.
Fie :  [HEleiiaa g9 Sae gIeaniad ghenidEar & [o7g, J97 Ge 9 & LI WE -
Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 9 :
FH T GO o fJe@ & fou IRt Rl i sreRl il st

shifs | 1x3=3

Explain any three factors responsible for the development of Bokaro Steel
Plant.

10. “wra wrs fafagan S vfw g 1”7 sem i gise i | 1x3=3
YT
UG H IO 3R T SHEEAT & gued ki fohal dia-dia fomiwareti &
AT hIfvu | 1x3=3



“India is a land of linguistic diversity.” Support the statement.

OR
Explain any three characteristics each of rural and urban composition of
population in India.

11. ‘S 3R ¥g & JAfifis Yo T iR ¥ 7, 08 S9a@ &1 R

giEfdd gt & |7 e i =AEiea S80S | 1x3=3
reran

“Ureifies Wi 4 51 & 1 T H HEEd I, fehd SIS gig 3= o

@ |7 e S FEITad 38U | 3

“Apart from birth and death, migration is another way by which the
population size changes.” Justify the statement.

OR

“Technological advancement helped in the reduction of birth rate, but
population growth remained high.” Justify the statement.

12. = feu o umfs @1 aageiqds sterm hife ot 3k A9 fiu e et &
I TR 1+2=3




(12.1)

(12.2)

Study the map given below carefully and answer the questions that

follow :

Al # fogrs 7E T8t i yg=E s 3T 3gen am fafgu |

3 5L ! foregl a1 famiwaati h1 same Shifsu |

\
Pedro Mijuel
Lock,

= Ship Canal
XXX [ailway Line

= === Limit of Canal Zone

(12.1)

(12.2)

Identify and name the canal shown in the map.

Explain any two features of this canal.

P.T.O.
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Fie :  FHEICTRIT F97 FIT FIEATIAT GALie & 178, I97 &1 12 & T T &

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

TS T 1 foregl I famiwareti 1 wase hifsru | 1x3=3

Explain any three features of Suez Canal.

13. “Oohcl USER ST SN Shl WIT 1 W9 & | heH I Jodlehd hiorg | I1x3=3

“The Gross National Happiness is the measure of the country’s progress.”
Evaluate the statement.

Qug T
SECTION C
14. ‘=R wee 6 gty fafge | anfior fouvm gl o T foueE gt
forerwanstt =1 auig i | 1+2+2=5

Define the term ‘trade’. Describe the features of rural marketing centres
and urban marketing centres.

15. 99 fRE YR ST I 3TN o HIY hi Tldfelemi & R TgNd il 2 ? T
HITT | 2li2l-5

2 2
How do human beings pollute the water through industrial and

agricultural activities ? Explain.

16. TIH Usg ah™ HEHA g TR THITG H ad15 T8 MATHharsti 1 Jui
HIT | Ix5=5

eI
FER & foermsiiar een & vy afeqal bt foedl aie qaiaei gaeanstt i
Juig hifse | Ix5=5

Describe the priorities which have been outlined by the United Nations

Development Programme as part of its urban strategy.

OR

Describe any five environmental problems of urban settlements in the
developing countries of the World.



[ 3
17. T TSl I {aehd HH-H1 MY T =l 8 2 Huq TSl & Hed
3eTEn afgd Tase Hifu | 1+4=5
ST
TR 3o <hl HREIFHAT A1 Eal d¢H o T 33T W fohedi uTe sherl
3TN |fgd =men Hifu | Ix5=5

Which apex body develops the border roads ? Explain the importance of
border roads with examples.

OR

Explain with examples any five steps taken to increase the performance

and quality of Indian Railways.

18. “STaUSy SR, TSl & it Yiedfiies e 8l 8 |7 39 $Id ol
Torgetwor hifsw | Ix5=5

AT

“Tedia gomeHl O T A SR R STUR ® |7 39 U 1 faveiyur
HIT | Ix5=5

“International trade is mutually beneficial to nations.” Analyse the

statement.

OR

“The difference in national resources is the basis of international trade.”
Analyse the statement.

19. YXd H ScT hl TUTET 1 BT 1 &l T 8 ? S80I Higd Tase hIfrg | 5
Why is the quality of water deteriorating in India ? Explain with
examples.

20. THTH T HRIHA o fohegl qTe LT hl SATEAT hIFVT | Ix5=5

Explain any five objectives of ‘Namami Gange Programme’.

641412 9 PTO.



21. HER % U TC TS {@-AFA (58 13 W), 9 HFTifcish A& hl A,
B, C, D 3t E ¥ fegrn mn 2 | fa=fafgd S i vee @ =1 agon &

UEAH hITT 3T 3T T AT 39oh I Wit 78 @nsti W fafan Ix5=5
A, YHE 9HGl 9T

B. AU T 18 UTH

c. wm &

D. Sarl IR &

E. &9%d i gfec ¥ WG i Td o1 o

On the given political outline map on the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
these features with the help of the following information and write their

correct names on the lines drawn on the map near them :
A. A major seaport

An international airport

A Mega city

An area of nomadic herding

= O QW

The largest country of the continent in terms of area

Fie:  HElcirad Je7 Faa giEandaa ghentaat & o, JvT e 21 @ T
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) TR IR & dfvamt qe W oo foreft wh vH@ 9qgl 9o 1 9
ferfay |

(21.2) ATeforan & dfvendt w4 foo fopelt Uoh SFmauisdia g I @ 9™
ferfeT |

(21.3) 3ThIehT o forelt weh T f&dt w1 9w foafam |

(21.4) cfeoft Marg o fedra foreft v aeramedt agemRor &= =1 9m fofEe |

(21.5) CfeJur STHIERT H &% i gfee ¥ HaH 81 o SHH-91 3 ? 1x5=5



(21.1) Name any one major seaport located on the western coast of
North America.

(21.2) Name any one international airport located in the western part
of Australia.

(21.3) Name any Mega city of Africa.
(21.4) Name any one area of nomadic herding in Southern Hemisphere.

(21.5) Which is the largest country in terms of area in South America ?

22. WRA o U T TSI W@I-AFRE (I8 15 W), § Fefaiaa Himfers aeon
H O faegt grer + 3w el & quiize 3 39 Am fafeu Ix5=5

(22.1) TSRIA H T SHE FHG 97H

(22.2) WA 1A HEWA ol TEATH

(22.3) AT H HIFEAI SFTATST TTeh
(22.4) e | TOa oigT TR 3&aTd &9
(22.5) YA ¥ =Tae ol UV IcqTGh T
(22.6) 3TEH T JAIMY HREMT

(22.7) s & feuq sfeamse i @M
(22.8) IcUA™ % &F § 30t T

Locate and label any five of the following geographical features on the
political outline map of India with appropriate symbols (on page 15) :

(22.1) A major seaport in Gujarat

(22.2) The Headquarter of Central Railway Zone
(22.3) Software Technology Park in Telangana
(22.4) The iron and steel plant located in Karnataka
(22.5) The leading rice producer State in India
(22.6) An oil refinery in Assam

(22.7) A mine of Bauxite in Odisha

(22.8) The leading State in the field of out-migration

64/412, 11 P.T.O.
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Fie:  FHECTRET 397 Fac GIREnad ghgniaan & o/, J97 G&7 22 & T T
& | =gt uiar 71 & 3 forfem |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 7RG ¥ feod yq@ Tl oo 1 9w fafae |

(22.2) T2 I HSA H1 GEATTT Hal 12Id B ?

(22.3) T H fEd et SISt qreh ol 1 faRaw |

(22.4) e B fooa foreft ua oArar 9 seura w9 &1 9 foflgu |

(22.5) WRA U 3Uft =Tael IcdTeeh s i AW faIRau |

(22.6) 299 ¥ fedra foreft wep dorene @™ 1 9 faReaw |

(22.7) 3nfesn ¥ feuq sfedmge il @H 1 99 fdfaw |

(22.8) 3T oh &F H UM T w1 AW fAfay | Ix5=5

(22.1) Name the major seaport located in Gujarat.

(22.2) Where is the Headquarter of Central Railway Zone located ?
(22.3) Name the Software Technology Park located in Telangana.
(22.4) Name any one iron and steel plant located in Karnataka.
(22.5) Name the leading rice producer State in India.

(22.6) Name any oil refinery located in Assam.

(22.7) Name the Bauxite mine located in Odisha.

(22.8) Name the leading State in the field of out-migration.
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For question no. 21

"TVOLLI'TOd-d'TdOM

P.T.O.
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I H. 22 & foiw For question no. 22
A T T@T-AE A (TSTHITR)
Outline Map of India (Political)
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